

## On Birkhoff's theorem in scalar-tensor theory of gravitation

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

1973 J. Phys. A: Math. Nucl. Gen. 6 1867

(<http://iopscience.iop.org/0301-0015/6/12/010>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 171.66.16.73

The article was downloaded on 02/06/2010 at 04:42

Please note that [terms and conditions apply](#).

# On Birkhoff's theorem in scalar-tensor theory of gravitation

DR K Reddy

Department of Mathematics, Indian Institute of Technology, New Delhi-110029, India

Received 12 June 1973

**Abstract.** It is shown that an analogue of Birkhoff's theorem of general relativity exists in a scalar-tensor theory of gravitation proposed by Sen and Dunn. Unlike in the Brans-Dicke scalar-tensor theory, Birkhoff's theorem is valid in the present theory irrespective of the nature of the scalar field introduced.

## 1. Introduction

Brans and Dicke (1961) have formulated a scalar-tensor theory of gravitation in which the tensor field alone is geometrized and the scalar field is alien to the geometry. Recently Sen and Dunn (1971) proposed a new scalar-tensor theory of gravitation in a modified riemannian manifold in which both the scalar and tensor fields have intrinsic geometrical significance. The scalar field, in this theory, is characterized by the function  $x^0 = x^0(x^i)$  where  $x^i$  are coordinates in the four-dimensional Lyra manifold and the tensor field is identified with the metric tensor  $g_{ij}$  of the manifold.

The field equations given by Sen and Dunn for the combined scalar and tensor fields are

$$R_{ij} - \frac{1}{2}g_{ij}R = -8\pi G(x^0)^{-2}T_{ij} + \omega(x^0)^{-2}(x^0_{,i}x^0_{,j} - \frac{1}{2}g_{ij}x^0_{,k}x^0_{,k}) \quad (1)$$

where  $\omega = \frac{3}{2}$ ,  $T_{ij}$  is the energy-momentum tensor of the field and  $R$  is the usual Riemann curvature scalar. It was pointed out that these equations are identical with the Brans-Dicke equations, namely,

$$R_{ij} - \frac{1}{2}g_{ij}R = -8\Phi^{-1}T_{ij} + \omega\Phi^{-2}(\Phi_{,i}\Phi_{,j} - \frac{1}{2}g_{ij}\Phi_{,k}\Phi^{,k}) + \Phi^{-1}(\Phi_{,i;j} - g_{ij}\square\Phi) \quad (2)$$

$$\square\Phi = \frac{8\pi T}{3 + 2\omega} \quad (3)$$

if the scalar function satisfied the condition

$$\Phi_{,i;j} - g_{ij}\square\Phi = 0 \quad (4)$$

and  $\omega = \frac{3}{2}$ . However, the gravitational 'constant' must be redefined. While Sen and Dunn (1971) gave only a series type solution to the static vacuum field equations of the scalar-tensor theory in a Lyra manifold, Halford (1972) has obtained a closed-form exact solution and has shown that the present theory predicts the same effects within the observational limits as Einstein's theory.

In § 2 we discuss Birkhoff's theorem in the Brans-Dicke scalar-tensor theory of gravitation following Schücking (1957). In § 3, we show that the Birkhoff's theorem is valid, in the scalar-tensor theory proposed by Sen and Dunn, whatever may be the nature of the scalar field introduced.

**2. Birkhoff’s theorem in Brans–Dicke theory**

It was shown by Birkhoff (1927) that every spherically symmetric solution of the Einstein vacuum field equations is static. This fact is known as Birkhoff’s theorem. Schücking (1957) has shown that this theorem is valid in Jordan’s (1952) extended theory of gravitation when the gravitational invariant of the theory is independent of time. On similar lines we show here, for completeness, that Birkhoff’s theorem holds in the Brans–Dicke theory of gravitation when the scalar field introduced in the theory is independent of time.

We consider the spherically symmetric metric in the form

$$ds^2 = e^v dt^2 - e^\lambda dr^2 - r^2(d\theta^2 + \sin^2 \theta d\phi^2) \tag{5}$$

where

$$\lambda = \lambda(r, t); \quad v = v(r, t) \tag{6}$$

with the scalar field

$$\Phi = \Phi(r, t). \tag{7}$$

The Brans–Dicke vacuum field equations for the metric (5) read as

$$\Phi \left[ -e^{-\lambda} \left( \frac{v'}{r} + \frac{1}{r^2} \right) + \frac{1}{r^2} \right] = e^{-v} \left( \frac{\dot{\lambda}\Phi}{2} - \frac{\omega\dot{\Phi}^2}{2\Phi} \right) - e^{-\lambda} \left( \Phi'' - \frac{\lambda'\Phi'}{2} + \frac{\omega\Phi'^2}{2\Phi} \right) \tag{8}$$

$$\Phi \left[ -e^{-\lambda} \left( \frac{v''}{2} - \frac{\lambda'v'}{4} + \frac{v'^2}{4} + \frac{v'-\lambda'}{2r} \right) + e^{-v} \left( \frac{\ddot{\lambda}}{2} + \frac{\dot{\lambda}^2}{4} - \frac{\dot{\lambda}\dot{v}}{4} \right) \right] = e^{-\lambda} \left[ \frac{\omega\Phi'^2}{2\Phi} - \frac{\Phi'}{r} \right] - e^{-v} \frac{\omega\dot{\Phi}^2}{2\Phi} \tag{9}$$

$$\Phi \left[ e^{-\lambda} \left( \frac{\lambda'}{r} - \frac{1}{r^2} \right) + \frac{1}{r^2} \right] = e^{-\lambda} \left( \frac{\omega\Phi'^2}{2\Phi} - \frac{v'\Phi'}{2} \right) + e^{-v} \left( \ddot{\Phi} + \frac{\omega\dot{\Phi}^2}{2\Phi} - \frac{v\dot{\Phi}}{2} \right) \tag{10}$$

$$\Phi e^{-\lambda} \frac{\dot{\lambda}}{r} = e^{-\lambda} \left( \frac{\omega\dot{\Phi}\Phi'}{\Phi} + \dot{\Phi}' - \frac{\dot{\lambda}\Phi'}{2} - \frac{v'\dot{\Phi}}{2} \right) \tag{11}$$

$$\ddot{\Phi} - \frac{1}{2}(v - \lambda)\dot{\Phi} = e^{v-\lambda} \left[ \Phi'' + \Phi' \left( \frac{2}{r} + \frac{v' - \lambda'}{2} \right) \right] \tag{12}$$

where primes denote partial differentiation with respect to  $r$  and dots denote partial differentiation with respect to  $t$ . When  $\Phi$  is a constant this system reduces to the Einstein vacuum field equations in the spherically symmetric case and hence Birkhoff’s theorem follows.

When the scalar field is a function of  $r$  alone, that is,  $\dot{\Phi} = 0$ , we have from (11) either

$$\dot{\lambda} = 0 \tag{13}$$

or

$$\Phi = \frac{\Phi_0}{r^2}, \quad \Phi_0 = \text{constant} \tag{14}$$

when  $\dot{\lambda} = 0$  it follows from (8), (10) and (12)

$$1 + \frac{r}{2}(v' - \lambda') + \frac{r\Phi'}{\Phi} = e^\lambda. \tag{15}$$

Partial differentiation of (15) with respect to  $t$  gives us

$$\dot{v}' = 0 \tag{16}$$

And when  $\Phi = \Phi_0/r^2$  it follows again from (8) that

$$v' - \lambda' = \frac{2}{r} \tag{17}$$

Substituting this in (15) we get

$$e^\lambda = 0. \tag{18}$$

Therefore, in this case, no solution arises. With this Birkhoff's theorem is proved in the Brans-Dicke theory of gravitation.

### 3. Birkhoff's theorem in scalar-tensor theory in a Lyra manifold

We consider the spherically symmetric line element in the form given by (5) with the scalar function

$$x^0 = x^0(r, t). \tag{19}$$

We shall prove that without assuming time independence of the scalar function  $x^0$ , the metric (5) is static in the present theory. The vacuum field equations of Sen and Dunn for the metric (5) can be written as

$$e^{-\lambda} \left( \frac{v'}{r} + \frac{1}{r^2} \right) - \frac{1}{r^2} = \frac{\omega(x^0)^{-2}}{2} [e^{-\lambda(x^0)^2} + e^{-v(\dot{x}^0)^2}] \tag{20}$$

$$e^{-\lambda} \left( \frac{v''}{2} - \frac{\lambda'v'}{4} + \frac{v'^2}{4} + \frac{v' - \lambda'}{2r} \right) + e^{-v} \left( \frac{\ddot{\lambda}}{2} + \frac{\dot{\lambda}^2}{4} - \frac{\dot{\lambda}\dot{v}}{4} \right) = \frac{-\omega(x^0)^{-2}}{2} [e^{-\lambda(x^0)^2} - e^{-v(\dot{x}^0)^2}] \tag{21}$$

$$e^{-\lambda} \left( \frac{\lambda'}{r} - \frac{1}{r^2} \right) + \frac{1}{r^2} = \frac{\omega(x^0)^{-2}}{2} [e^{-v(\dot{x}^0)^2} + e^{-\lambda(x^0)^2}] \tag{22}$$

$$e^{-\lambda} \frac{\dot{\lambda}}{r} = 0. \tag{23}$$

From (23) we have

$$\dot{\lambda} = 0, \tag{24}$$

that is,  $\lambda$  is independent of time.

From (20) and (22) we have

$$1 + \frac{1}{2}r(v' - \lambda') = e^\lambda. \tag{25}$$

Partial differentiation of (21) with respect to  $t$  gives us

$$\frac{1}{2}r(\dot{v}' - \dot{\lambda}') = e^\lambda \dot{\lambda}. \tag{26}$$

Using (24) in (26) we get

$$\dot{v}' = 0,$$

that is,  $v$  is independent of time. Hence Birkhoff's theorem is valid in this theory whatever may be the nature of the scalar field.

#### 4. Conclusions

In the scalar–tensor theory of Brans and Dicke no theorem analogous to Birkhoff's theorem in general relativity has been proved. Here we have shown that such a theorem is true, for the Brans–Dicke theory, in particular, when the scalar field is independent of time. But in the scalar–tensor theory proposed by Sen and Dunn Birkhoff's theorem is valid irrespective of the nature of the scalar field. Hence it may be considered that this theory is an improved version of the Brans–Dicke theory.

#### Acknowledgments

The author would like to thank Dr M N Mahanta for his help and encouragement. This research was supported by the Council of Scientific Industrial Research, India.

#### References

- Birkhoff G D 1927 *Relativity and Modern Physics* (Cambridge, Mass.: Harvard University Press)  
Brans C and Dicke R H 1961 *Phys. Rev.* **124** 925–35  
Halford W D 1972 *J. math. Phys.* **13** 1699–703  
Jordan P 1952 *Schwerkraft und Weltall* (Braunschweig: Friedrich Vieweg und Sohn)  
Schücking E 1957 *Z. Phys.* **148** 72–92  
Sen D K and Dunn K A 1971 *J. math. Phys.* **12** 578–86